

تأليف 14

بسم الله

إلياء رضوي دم B

$$\alpha_n = \frac{1}{r} \text{ و } \alpha_1 = 1$$

$$\alpha_n = \frac{1}{r} \times r^{(n-1)} \rightarrow \frac{1}{r} \times r^9 = r^1 = \boxed{256}$$

$$\frac{\alpha_{14}}{\alpha_{13}} = \frac{\alpha_{14}}{\alpha_{13}} = 9^4 \rightarrow r^4 = \boxed{16}$$

$$b^r = a_c \rightarrow b^r = a_r \times a_1 = r^1 \cdot r^1 = r^2 \rightarrow b^r = r^1$$

$$\alpha_r = \frac{1}{r} r^r = r^r \quad \alpha_1 = \frac{1}{r} r^1 = r^1$$

$$\rightarrow b = \boxed{r^5} = \boxed{32}$$

$$1 \times A = \frac{1}{r} \times r^{(n-1)} \rightarrow 256 = r^{(n-1)} \rightarrow r = r^{n-1} \rightarrow n = \boxed{9}$$

$$9^{m-n} = \frac{\alpha_m}{\alpha_n} \rightarrow \frac{\alpha_1}{\alpha_5} = 9^3 \rightarrow 9^1 = \frac{9^5}{16} \rightarrow 9^r = r^r \Rightarrow 9 = r$$

$$\alpha_1 \times 9^r = \alpha_1 \rightarrow \alpha_1 = 9^6 \times r^r = \boxed{312}$$

$$P_n = (d_{wg})^n$$

$$\alpha_1 \times \alpha_r \times \alpha_r \times \alpha_r \times \alpha_r \times \alpha_5 = 256 \rightarrow \alpha_r^5 = 256 \rightarrow \alpha_r = \boxed{4}$$

$$\alpha_1 \times \alpha_5 = \alpha_r \times \alpha_r \rightarrow \alpha_1 \times \alpha_5 = \boxed{9}$$

$$r^a, \sqrt{r}, r^b$$

$$b^r = ac \rightarrow (\sqrt{r})^r = (\sqrt{r})^r = r^{a+b} \rightarrow r = r^{a+b} \rightarrow a+b=1$$

$$a \rightarrow x \rightarrow b \rightarrow x = \frac{a+b}{2} \rightarrow x = \sqrt{2.5} \checkmark$$

$$a_p = a q^r = 1 - x \quad x = -\frac{\sqrt{p}}{2} \quad \text{فقط مقدار مثبت قبل است زیرا به ازای } x = -\frac{\sqrt{p}}{2}$$

$$a_p = a q^r = x$$

$$a_p \times a_{11} = a_p \times a_p \quad \text{جملات فرد نام}$$

$$a_{11} = a q^1 = x+1$$

$$\rightarrow (1-x)(1+x) = x^2$$

$$\text{غیر هم علامت باشند}$$

$$\rightarrow 1-x^2 = x^2 \rightarrow 2x^2 = 1$$

$$\rightarrow x^2 = \frac{1}{2}$$

$$x = \pm \frac{\sqrt{2}}{2}$$

$$\left\{ \begin{array}{l} x = \frac{1}{\sqrt{2}} \\ x = -\frac{1}{\sqrt{2}} \end{array} \right.$$

$$1/2$$

$$a_1 + a_5 = a + a q^4 = 21 \rightarrow a(1+q^4) = 21$$

$$a_2 + a_8 = a q + a q^7 = 12 \rightarrow a q(1+q^6) = 12$$

$$\frac{a_1 + a_5}{a_2 + a_8} = \frac{21}{12} \rightarrow \frac{a(1+q^4)}{a q(1+q^6)} = \frac{7}{4} \rightarrow \frac{(q^4+1)}{q(q^6+1)} = \frac{7}{4}$$

$$\rightarrow 4q^4 - 3q + 3 = 7q \rightarrow 4q^4 - 1.9 + 3 = 0$$

$$(q^2 - 1.9 + 4 = 0) \rightarrow (q-1)(q-1) \rightarrow q = 1 \quad \left\{ \begin{array}{l} q = \frac{9}{4} = 2.25 \\ q = \frac{1}{4} \end{array} \right.$$

$$\rightarrow a_1 + a_5 = 21 \rightarrow a_1 + a_1 q^4 = 21 \rightarrow \begin{cases} a_1 = 1 \\ a_1 = 21 \end{cases}$$

$$1, 3, 9, 27, 81 \quad \text{یا} \quad 27, 81, 243, 729$$

$$1. \alpha \cdot \alpha q \cdot \alpha q^r = \alpha^r q^r = rV \Rightarrow \alpha q = r \rightarrow \alpha = \frac{r}{q} \quad (V)$$

$$2. \alpha + \alpha q + \alpha q^r = 1r \rightarrow \alpha(1 + q + q^r) = 1r$$

$$3. \rightarrow \frac{r}{q}(1 + q + q^r) = 1r \rightarrow r(1 + q + q^r) = 1r q$$

$$4. \rightarrow r q^r + r q + r = 1r q \rightarrow r q^r - 1 \cdot q + r = 0$$

$$5. \rightarrow q^r - 1 \cdot q + q = 0 \rightarrow (q-1)(q-q)$$

$$6. \rightarrow \begin{cases} q = \frac{1}{r} \\ q = \frac{q}{r} = (r) \end{cases} \quad \checkmark$$

$$9. \rightarrow \boxed{1}, r, \boxed{q} \quad \checkmark \quad \boxed{q}, r, \boxed{1}$$

$$11. \alpha_n = r, q, 1r, \dots \quad \alpha_n = \alpha q^{n-1} = r \times r^{n-1}$$

$$13. S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right) \rightarrow S_1 = \frac{r \times r^1 - 1}{r - 1} = \boxed{r - 1} \quad \checkmark \quad (\text{الف})$$

$$15. P_n = (\alpha_1 \times \alpha_n)^{\frac{n}{r}} \rightarrow P_1 = (r \times r \times r^q)^{\frac{1}{r}} = \boxed{r \times r^q} \quad \checkmark$$

$$18. \alpha - \alpha q, \alpha q - \alpha q^r, \alpha q^r - \alpha q^r \quad (q)$$

$$19. (\alpha q - \alpha q^r)^r = (\alpha - \alpha q)(\alpha q^r - \alpha q^r)$$

$$(aq - aq^r)^r = (a - aq)(aq^r - aq^r)$$

$$\rightarrow q^r(q - q^r)^r = q^r(1 - q)(q^r - q^r)$$

$$\rightarrow q^r + q^r - 2q^r = q^r - q^r - q^r + q^r$$

$$\rightarrow q^r + q^r - 2q^r = q^r + q^r - 2q^r \checkmark$$

$$a - aq, aq - aq^r, aq^r - aq^r \checkmark$$

$$\rightarrow a(1 - q), a(q - q^r), a(q^r - q^r)$$

$$\begin{array}{cc} \curvearrowright & \curvearrowright \\ \times q & \times q \end{array}$$

$$q \neq q^r \text{ البتة}$$

$$S_n = \frac{n}{2}(2a + (n-1)d)$$

$$a_1, a_2, a_3, \dots, a_{n-2}, a_{n-1}, a_n$$

$$a_1 + a_n = a_2 + a_{n-1} = a_3 + a_{n-2} \checkmark$$

$$S_n = (a_1 + a_n) \frac{n}{2} \xrightarrow{a_n = a_1 + (n-1)d} S_n = \frac{n}{2}(a_1 + a_1 + (n-1)d)$$

$$\rightarrow S_n = \frac{n}{2}(2a_1 + (n-1)d)$$

$$S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right)$$

$$\alpha, \alpha q, \alpha q^2, \dots, \alpha q^{(n-1)}$$

$$\begin{aligned} S_n &= \alpha + \alpha q + \alpha q^2 + \dots + \alpha q^{(n-1)} \\ \times q \quad \left(\begin{array}{l} \downarrow \\ q S_n = \alpha q + \alpha q^2 + \alpha q^3 + \dots + \alpha q^n \end{array} \right) \times q \end{aligned}$$

$$S_n - q S_n = \alpha - \alpha q^n \rightarrow S_n (1 - q) = \alpha (1 - q^n)$$

$$\rightarrow S_n = \frac{\alpha (1 - q^n)}{(1 - q)} = S_n = \alpha \left(\frac{q^n - 1}{q - 1} \right)$$